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Base your answers on what you studied in | sLo¥1550L0 -2 Cew)s Lo s gid -2

Biology: $AGY A e Coi

1- Choose (A) or (B) then, write the @3 (@) 9 (1) ottt uadt i et =)
scientific term. 1 dde J1 alall pllaaalf CLS)

(A) A deep depression which the head of
the thigh bone (femur) fits.
(B) A cytoplasm of muscles.

Ol Ao piiiuy angn (1)
Lamalf elas
S aall B a3 g | ()

2- Choose (A) or (B) then, what is meant by : | (<) of (1) 3wt di i) =¥
(A) The acidic gastric juice. P dgadalt le )S3 @
(B) Tyloses. el Gaaadi Oy a1 (1)

Clekadt (2)

r19/0-1A Joll joaJl - A =alpoll Aulhhl) A A i



YA/ YNNGl 5t alalh = J 9 5 9ad) - (A 3ulad W1 ARULY) o Lo ) Aalall A g3 Al ) ALY 3lgs loniial

3- Choose (A) or (B) then, mention the site | (o) o (1) il ) dsi Ji5) =¥
and the function of: : Aads gl g HISel) S @d
(A) The sertoli cells. A9 ads (1)
. . (o
(B) The stigma. et (2)
T L e N L P
Olsat N
Function |
Aads of | S | WY T AP
4- Choose the correct answer only. + dadd dvonall Wl W1 5 - ¢
The secondary oocyte is developed into | 4 gilidt deiaacdt adstt Jgais
an ovum IN........... | .. NP |
@)  the Graffian follicle. L ()
(b  Fallopian tube. ollasls ()
(©)  the corpus luteum. o Y| uent| ®
(@  Uterus. et N O)
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S- Explain the following : ' Lo pud -0

After destroying the antigens, the T | o ,alcluoid¥ e sliaat e
suppressor cells (Ts) bind with the help
of the receptor CD8 found in its surface,
to plasma cells, T-helper cells (Tu) and T
cytotoxic cells (Tc)

Tg aaciadl 26031 LRI dad )3
Lttt ae CDg et | ddal g
Al LM g dee ) SV B aala

T aeladty Ty sae Lt

6- What would happen if? § eeen e Sty 13Le =

The cell cannot be unwound chromatin | calad ¥ eld le Lgs yud ddsd i ad
and its condensing at least into a string of

Ggun (I Gile g ,STL sy
nucleosomes

Gile g g.dS 91 (g0 day p

[4]
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7- The given figure represents the el 53 Elalel (g JSE g -V
structure of human sperm, answer (S 9ad! (31 gund |
the questions: P AGY ALY (e Cnf S ¢ gus B

1*: What is the role of structures (3 & 4)? | §(£) o (¥) cpucsS 51y JS 39 Lo - ’;(3‘.

27 'What is the secretion of no.(1) ? 3(1) oy e i Ly oy 01 Bslad Lo Lo

3™: What is the number of §(Y) pdy S 52 (8 Sliwalt sae Lo : s
chromosomes in part (2)?
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8- Explain the effect of each: ) :Js b mdy -A
1*: Shortage of iodine on thyroid gland | sLattgsluatt ;o 501 yads - ;(31

2nd: Adrenal medulla hormones on liver & | -&2,-d154a11 e £1541g
heart Baatl gl oligm ,a : Lals

codat g WS le A pdast

[6]
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9- The given figure represents a piece of | due3dg DNA (ye dalad JSE01 fiay -4
DNA and plasmid. | JalS dasid o euytlpcing
Explain by fully labeled diagram how | z.tati 000 Gt s Sl
do the piece can be joined together.

~eea ) ML
RGCT
PRT CGA,J
=] AAGCTT AAGCTT
TTCGAA TTCGAA
L) NN\ !
Plasmid DNA (y0 datad
Piece of DNA
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10- Choose the correct answer + Jadd dovonall Al ¥l pa5 ) -\

The cells which attacking the transplanted | 4yl slaac¥l aalgi il Lt
organs, body cells infected with the virus | jugmatl ilacd! ewsdt LS,

and carcinogenic cells are...... RS W JON ([ ILYES [
@ B- cells B astar Ly @
@ Suppressor T-cells (Ts) Tq mals 4 Al diall 2SI LS @
@ Helper T cells (T,) T 5o Luad | 25531 LSS @
@ Cytotoxic T-cells (or killer T cell) (T ) T 0 AL g dobuad) A L S @

11- Choose (A) or (B) then, give reason: (<) oF (1) ot uadt i it =\ )
(A) Cartilage found usually at the tips of the P e
bones and between the vertebra of the | wie Lol cayyliasttsgag (i)
vertebral column Gl pid (g pLta 2 Lo
(B) The most acceptable theory for muscle . 6LaaT) 3 geall
contraction 1s the theory of shiding | wat ;e & gt iuws 4o ,aai ()
filaments i) gyl ygiil s
OMaall (olas

12- Write the scientific term: 1 ole JI alal| mllaaal COS) =) Y

A phase of menstrual cycle in which the | ;i led b cualatis g o Al 1o
ovum liberate and corpus luteum is formed. oY | (31455 ias gl

r19/0-1A Joll joaJl - A =alpoll Aulhhl) A A i



YA/ YNNGl 5t alalh = J 9 5 9ad) - (A 3ulad W1 ARULY) o Lo ) Aalall A g3 Al ) ALY 3lgs loniial

13- What would happen if............ 2

Viruses have RNA genomes uses reverse
transcriptase enzyme

14- Write the scientific term:

The first line of defense to prevent
pathogens from entering and spreading
inside the plant.

§ e e Do 13le - VY
I Olcug o M ali 3ol
O U5y (it L gl
. riaSalt faid ! @33 MRNA

f ole JIAN alal) allaadl! CCS) - ¢
ol dad e Aeards jals>
(po s pod| Slipuuad | piel g
AL o HLEz ¥ OLAd ! 3 J gl

15- Write the numbers of chromosomal
sets in each of:

1*:0o0kinete in plasmodium life cycle

2": Drones.

[9]

ddualt Slegamalt ade cOSY -1 0
1 pa S 2
3393 S"ﬁ ‘“,SJ.:-._HJ’_YQ_Y\ : yji
Lydhetfagargay S sl
il S 83 : Lals
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16- Choose (A) or (B), then, compare:

(A) Bone marrow and Payer’s patches
( concerning : site & function)

(B) Precipitation & Lysis

(<) 91 (1) ot gmiad )ty =\
(e
O ) b g pliaadt gl (1)
(Aads o319 HlSad ! o
i g o, (o)
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17- Look at the % 4 Jolaad) JSEH guyal -\V
figure then, @ ya O wi @
answer: s A Al

I What pitcd Lo %CS‘ 3 ;fj"
is the N\ e
numbers oled Il 4]
(1&2) (M) s (V)
refer to?

2d: Explain: the two DNA strands are o o 980 ¢ i : LS

always at the same distance from one | aaluat! juas e DNA
strand to another along the length of | e jasdileginn o

DNA molecule DNA £5 3 slual
18- Explain the role of each: : ;,.ojsua a9 - \A
1*: Relaxin hormone LS S T (90 b 2 ¥

2": Aldosteron hormone L0 9 i g AW (g pa LSS
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19- Choose (A) or (B), then, write the
scientific term:

(A) Introduce a part of DNA from one
organism into cells of another.

(B) Enzyme which hydrolyses DNA
completely but it does not affect the
proteins or RNA.

20- Choose (A) or (B) then,
mention the importance of:

(A) Tendrils of climbing plants as pea

(B) Acetylcholine in muscle contraction.

(<) 91 (1) Gt 3mad ) i pisnd =14
v dgde JIAM elal! mllaaed) COS) @
O3l oI DNA (e s gl (1)
3 > IS LS N >
Jeli e Byuat! a) @ajsl ()
¥ a4l ¥ Sels Stu=3 DNA
RNA g1 (y3g 501 Ao 3%

() 51 (1) Gt o piint =Y ¢
10)93 g @

LIS Ailudall SbLad S8 @t (1)

Alaad! (ol b (88 o ()
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21- Choose (A) or (B), then, give reason:

(A) Using laboratory means such as
centrifugation or exposure to a limited
electric field in gamete banks

(B) Male gametes have the ability to move.

22- Name the used techniques in:

1*: Obtaining a full carrot plant from some
of'its cells.

2": A mature ovum is obtained from
a wife’s ovary and being fertilized
externally with her husband’s semen
In a certain nutritive medium till
reaches to the morula.

r e @ (@) 9l (1) ot pudt dnf 251 Y
3,datlS 2lene ilugalusiul (1)
oS Jlnadl 51 G3S ol
LY g B 3 gl
A S gl oW i (o)
JAS oI e 3 yuatl

zyzsg‘aan.\s.:wtmwu&:s'-ﬂ
52 Ole Gle Jaantl: ¥y
LS yaas (ye Jals
Sy Lo 5 sl g - Ll
aug 2 Lgle g Lea g (o 9
LA s p | i > (g0
dagillesy B lee yalas @
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23- Choose the correct answer:

From the Biochemical immunity
mechanisms in plants ........

The cork formation
The deposition of gums
The formation of tyloses

The production of Phenols

®OeE

24- “Nucleic acid molecule fold back in
characteristic loops, which are held in
shape by base pairing between different
areas of the molecule”

Write the name of this acid, what is its
function?

+ Jadd dovowall dala Wi o) VY
BileesS 9! Aelial) ST (pe

Slskali sss )
¥tz ()

panaili g9 e -V

dadiomd Glals )9S Al j|

‘;.ﬁ M[’-EJ. C‘j.\j\_j L@.\S.ﬁu
.;ghj![_,.n"m.c-..n’ e bolie

Leg . et ﬁ\.bp;ml?«:«‘S‘
aads
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25- This part of DNA is carried this | Joon DNA das y & (0 ¢ jo SLAT - YO
sequence after mutation |13 palo G day S LT

3..TACCCGAACATTCCAATC...’5

1*: Write the sequence produced | Blolas (o Ll pulidt! caSi ;!3‘1
from treating this strand by RNA | RNAG pols oo 3ok das pd 1220

polymerase. ' oWl olea¥l sae oS : Lol
2" How many amino acids translated | sy 01128 Ga 53 (o AL
from this produced strand? Why? et pe Sl

26- explain by drawing a labeled diagram | OGLud dde g daZd au b by - Y1
the structure of bony vertebra. . < Acelaal| 3 ,AAN (oS o
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27- The following figure represents the A {iri (A (R - PR A
structure of antibody, answer the Y- (PN (S
question: RUPS T PPV

1*: ' What are the numbers (2) & (3) refer to? Ay g La s Y
2: How is the specificity of the antibody §(¥) 9 (Y) Oled

determined? e s Ll : Lol
Salas muws JS
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28- Choose (A) or (B), then, give reason:

(A) “Zygospore of spirogyra remains
dormant before forming new filament.

(B) The maturation of the fruit and seeds
often leads to discontinuity of the
plant growth and sometimes to its
death, especially in annual plants

29- Choose the correct answer:
Enzymes of DNA repair ...................
@)  DNA - helicase enzymes

@ DNA - ligase enzymes
@ Taq polymerase enzymes

@ polymerase enzymes

30- What are the results of:

The excessive spasm

() 31 (1) ool doni 251 - YA
L dhe @

B e | BB (25 (1)

(0 58 2SLas i g ¥

i ek 5555 01 8 gl

LIyl leldl it 3 ()

Loy SLAY ¢ a5 il s
gl b Rl g i3 )

+ dah Aowoual| Aala Y1 il - Y4
DNA Gigse 3ol e Joad Slayjil

s (D)

day p T @

Reedsdl (&)

.3 el @

§ el ole A el gL Lo -V

Oe WA Glaall il Ggus
e
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31- Write the scientific term: 1 ole I elal! mllaaadf CCST Y

Enzymes interact with the toxins produced | Jelais GBLA Lgaiis Slas 351
by pathogens and invalidate their toxicity | o usisyf s ma5 2! pgoiud o

e Moy s pest!

32- What would happen when .... ? §eees e S 300 =YY

Pregnant women is injected by Oxytocin | acull Hgerglls Jols 3 pel (yis
hormone. 5¥ gl dlee sLiT e 211 & iaat

33- Rearrange the following statements according to: | & ylaalt owialf el 1 CGS) - Y'Y
The periods of embryonic development | 0255 d>1xe! Lads a4l

: t OLud ¥ (o
1*: The heart is completed. .
Ot ol ged JaiSy = Wl
@B (el et 3L Loy
3": The eyes and hands become et

differentiated iy Syeal 3uled GIs

2" The growth of embryo slows down
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34- Choose (A) or (B) then, compare between:

(A) Primary immune response &
Secondary immune response
(Concerning: types of responded
cells — the time needed)

(B) perforin (perforating protein) &
Interferons (Concerning: the secreting
cells — function)

(<) 91 (1) ot guad) i pisn) Y8
z&)ﬁpﬁt
oY ad ¥ e it duloiuad (1)
g3 Co () A gl i Lied!
& pucl| gl Lol LIS
(Bl S
s (pa) Glg pd S 5¥1g (11558 el | ()
(Aadds 4119 8) paed LSSV g 43
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35- Polypeptide chain consists of the | ales¥1 i 0sS din dode dluls Y0
following amino acids respectively: s el ) ple AQLS Aie¥
O Y1 GO — (gl g o
oigs Aol Cilhgagst ColSy
: o poles Y

Proline | Alanine | Arginine
Oilomd! [ OB | G Y

CCC GCG AGG

1*t: Write the sequence on mRNA which | das i ole Slaslioidl oS!« ¥
translated to the previous amino acids | o s a1 mRNA

adding start codon and a stop codon. | | agalutiziw¥ jales Y
2" Using the previous mRNA as template | ¢ga58 Lgf Lacine cois yit!
for DNA complementary strand 1B g1 Ol 9 g8 sl g s

Galett MRNA ascnl s Lol
DNA das y iz slind LS
e JalSy !
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¥
36- Explain the role of each: 2 (0 JS A3 p gl (U youlll Le =¥
1*: Umbilical cord in human embryo O ¥ (piicn B (6 paad | - ;rjt
21: Corpus luteum to the fertilized ovum. | whas! Bl G2 ja0¥l puall: Lals
S g
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37- Choose (A) or (B) then, write the
scientific term:

(A) The ability of the egg to develop
to a new individual without being
fertilized by a male gamete.

(B) Fusion of 2" male nucleus (N) with
the two nuclei of the embryo sac (2N)
forming the endosperm nucleus (3N).

@ (@) 31 (1) gt di pisnl =YY
z%bd‘-ﬁ‘g,@hﬂcw‘@'&
3,5 (g8 9ol e By g1308 (1)
Sl el (pa ol | g
@m‘ A ,SAt1 319! GL&..\S‘ (u)
GLm.G‘ O axilidl 319l o
G295 it (sl (Sl
(O )p g3 ¥ 5153

38- Choose (A) or (B), then, explain:
(A) DNA sugar phosphate back bone is
asymmetrical.

(B) The amount of DNA in species’ genome bears
little relationship to the complexity of the
organism or the number of proteins it produces.

(@) 91 (1) ot gmiad | s § 500 =YA

daiyis b Claugd ,Sull IS (1)
.Jilsie ;e DNA

ol ggimall g2 DNA s ()

OIS T yludies 285 Lgd Coud

LggSs il Clidig pd3e gl ot
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39- Choose (A) or (B) then,

mention what is meant by:
(A) Inflorescence
(B) Perianth

40- Choose the correct answer:

® 0 @ 6

Sporozoites in plasmodium life cycle
divides in liver ..........

Sexually by gametes to produce
gametophytes

Asexually by schizogony giving
several merozoites

Asexually by sporogony giving
several merozoites

Sexually by gametes to produce
merozoites

(20) 91 (1) o3t i 250 -4
3 AM‘MJS:\“‘:'

N Y ( [ )
S @Mt (o)

zmw‘ a.)‘.??‘;&‘ =&

P99t Bl By9s 2
Ol gy g guw ! @udis LyShed!
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41- What would happen............ 2 S 13 St 13Le =)
If the second line of defense failed in | plus¥!eust il plaati das Gas
getting rid of the foreign body it | (y0 palidf

42- Compare between: (o Aot LI Gy (y18 - Y
Interstitial cells in hydra and in man FOLua¥ g gl oa JS

Interstitial cells in hydra Interstitial cells in man
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43- Draw a labelled diagram for female SLLd) JolS au Iy iy - €YV
reproductive system ( ventral view) PR T i (R W e (R WP {

(ool ylaie) Hlua¥
44- Study the IS uyat -8
following figure []] I rea i @ Jalaed
then, angwegr: @) W IT-L.; H:i e -
t . : e[ 10850+ X
I°: Mention the O m e 50 S e
number which e ] S
represent: 2 7 i
. () () Zone (1) RPATE
a. Actln' Line Line rase®
b. myosin

2™: What is the name of the distance | (yo #luell oud files : Lol
between two successive lines (1) | §(1) opedliiad! ydasd

31: Why do the smooth muscles are called | shed! @dliaall oud it : LI
unstriated? Salalasnell jd O aally
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45- A strand of DNA carry the following | Jeso DNA (e doos y2 St -0

sequence : 1 (o L aa L
’3..AATCCTGAGGTC...’5
1*: How many purine bases and complete roi | D ¢ 0 B
twists in this strand? sl delgd pe JS s o : ;(3"

2" Write the nucleotide sequence of the | Sdaspidl s b alelsti clallly
complementary DNA strand. Mention | das it e 518 gl oS!+ Lals
the name of used enzyme? 53 0 daa Jalsi 2t DNA

et | @331 !
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